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UB ARY \ WEST BENGAL STATE UNIVERSITY
" / B.A./B.Sc. Honours 3rd Semester Examination, 2022-23
&’%
ECOACORO07T-Economics (CC7)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable. 567 PRE!

All symbols are of usual significance.

1. Answer any five questions from the following:

e @-@I #isfh eess Tes wies
(a) Define convex set with example.
THIRGIE FACOS (FIC6H TS WIS |

(b) Show that homogeneity of any degree of the production function produces a
linear expansion path.

S (T B SR (3 (PICT N Fee o] e FemiRe 12 setalis
X

(c) If the production function is x=AI°K?, where a+ <1, show that there is
decreasing returns to scale.

A e WS x = AIPKP , @AE a+ f<1, (A8 @ TTeEi~e Afewicd
GRITIH s @R

(d) Why is a “global optima™ also a “local optima™?
@3f5 ““coiraret sefbar”, s weAbue A6 — @ ?

(¢) What do you mean by Nash equilibrium in game theory?
(o1 g 7 (Nash) SIFHT 5109 6 @ICat 2

() Explain the nature of time path y, =5 +4.

A ALy, = 5 + 4 49 &Ffo G FE |

(g) Given the input matrix and final demand vector:

0.05 025 0.34 180
A=10.33 0.10 0.12] and d ={200
0.19 038 0 90

explain the economic meaning of the elements 0.33. 0.38. 0, 90.
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0.05 0.25 0.34

180

A=1033 0.10 0.12] @R  =[200

0.19 038 0

fanfeRe Swivefeg wtafos anan wies

0.33, 0.38, 0, 90.

(h) Suppose the following table is the final optimal table: 2
£ A frrsfefe GRS e wsifbi G
Row T 7\: %, 8| S, Constant

0 m 0 0 2 l 14

1 0 0 1 2 -1 2

2 0 1 0 -1 1 2
What are the optimal values of X, X, and 7 ?
X, X, 9 7 93 S W fefy s
Answer any four questions from the following: 5x4 =20
e @I 513f6 2fta T wies
Suppose the demand and supply functions for a commodity are given by 4+1

()

(b)

3111

431 I (@A TCIA bRl 8 Q@i Seorssafe 2=

X,; = {120—2P+5d—P}
dt

X, = {3P—30+50d—P}
dt

P is the Price at time ¢. If the initial price is Rs. 36, find the time path of price.
What will be the price at 1 = 10?

P 305 ¢ SCEE Wi | A @ltelfS Wi 36 Bl 2, Oid Wit Sy 2 e s £ = 10
(e WIS O 2 ?

Consider the following Primal Problem
b3 2tzaE Tl Feasal et
Maximize  3x, +4x,
Subjectto  x,+x, <10
2x,+3x, <18
x <8
x, <6
X, X, 20

If the optimal solution of the dual problem is y* =0, y,* = % yi¥ :%, y*=0,
find out optimal solution to the Primal Problem.
e G T P T yr =0, pyF =3, pr=L pr =0, e ez
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(c) Determine the optimal mixed strategy and value of the game

I 3 (et 8 (sl e ey sl
Player B

Player 4| + !
ayer /
A DI

(d) Explain the concept of *dominance property’ to solve a 3x3 two persons game

©)

(a)

3111

with an example.
(OIS @I=MfS-9x diRell 217 30a FeiE@ 9B 3x3 4 ARG (o-aa S
FEI O G0 BRI HREIIA WS |

In a two sector economy, the input co-efficient matrix and final demand vector

are given by:
0.3 0.2 50
A= and C = ,
02 0.2 50

Find the optimal output level of two goods. Suppose that 0.2 and 0.1 are labour
co-efficient of two goods respectively. If L =100, will there be unemployment
in the economy?

7R (R IR wdifore Sermae 7ot st @ pors bifEwt (939 218
03 0.2 50
A= and C = ,
[0.2 0.2] [50}
TR I TS AR F© 20 2 431 IS G TR S HCH F7=0 IANF
0.2 €0.1 13 L =100 T oR® qLfore F @iag AUFE 2

2 2
Find out the “Eigen vector” of the matrix [2 J .

E 21} W% “Eigen vector™ g @M

Answer any two questions from the following:

femfeife @-iel 7fF ariq Ted nies

A revenue maximising monopolist requires a profit of at least Rs. 1,500. Her
demand and cost functions are P =304—-2g and C =500+4q+ 8q2 . Determine
her output and price at that level of profit. Compare those output and prices with
profit maximising output and price.

@I Rgera S AEHIIA (GO0 SFOHCE 1,500 5 &S e 1 eig
BIfEW S @ W HAHS IAFE P =304-2¢ 4R C =500+ 4q+8q° =, O
ot @3 #AfFI AT el DI SeAMCAS AT @ T A F© 2R 9 AT FAEHIA
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ibe a two-industry Leontief static open model stating clearly all the

(b) Descr
nge to convert the open model

assumptions. What assumptions are required to che
into a closed model?

et wapiqafe sieie S ot gaf 52 Fefae fafedls s[@ fraafbenrd
Mo 2l dran [ @ Seieaa sAfdasca alal sineAlben g am e #faers 4l
9

(¢) Locate the pure strategy Nash equilibrium of the following two Person game.
(D W (A A7 St (e aeal

Low Moderate High
Low (-13,-8) (-1,-4) (7,-4)
Moderate (-4,-D 4, - 4,-4)
High (1, 2) (-1 (1,-4)
(d) Solve the following LPP.
ftoa tals cellanfiRiva s et
Min C = 18u, + 8u, + 14u,
Subject to Uy +uy +2uy 21

3up +uy +uy 22

Uy, Uy, Uy 20

3111 4
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